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QUESTION 1

How is an IBM supplied pattern removed from the IBM App Connect Enterprise Toolkit?

A. Right-click the pattern name in Pattern Repositories > OT4Il GitHub Pattern Repository and choose Purge.

B. Right-click the pattern name in Pattern Repositories > OT4l GitHub Pattern Repository and choose Uninstall.

C. Right-click the pattern and choose Uninstall.

D. Right-click the pattern and choose Purge.

Correct Answer: B

If you want to uninstall and remove a pattern from the IBM App Connect Enterprise Toolkit, right- click the pattern name

in Pattern Repositories > OT4I GitHub Pattern Repository and click Uninstall.
https://www.ibm.com/support/knowledgecenter/SSTTDS_11.0.0/com.ibm.etools.mft.doc/ac68260_ .html

QUESTION 2

In order to comply with port binding in 12-Factor App, how many integration servers should exist per container?
A3

B.2

C.1

D. Unlimited

Correct Answer: C

QUESTION 3

What is one reason to organize resources into applications?

A. It enables all processes using the module to reference the latest versions
B. It enables the ability to reference the resources in an Integration Project
C. It allows for Java and ESQL support in the same message flow

D. It provides runtime isolation of resources

Correct Answer: D

QUESTION 4

Which prerequisite task must be done before encrypting a connection to an MQTT server?
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A. Create a connection from the MQTT server to the SSL server.

B. Configure the Security identity property on the MQTT server to use encrypted message flow.
C. Configure the MQTT server to communicate using JMT encryption.

D. Create a truststore and import the MQTT server public certificate into the truststore.

Correct Answer: D

QUESTION 5

What node category is used to enable integrations running in IBM App Connect on IBM Cloud for performing
aggregation-style operations?

A. Messaging Nodes
B. Group Nodes

C. Transaction Nodes
D. Callable Nodes
Correct Answer: B

https://developer.ibm.com/integration/blog/2018/10/08/ibm-app-connect-enterprise-now- supports-group-nodes/
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